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2. UIOIE =&

Count  Kind of JeX \4 z
1 Pelvis 0 0 0
1Knee_Righ 194.7091 242704 248.3975
. = = = 1K Left -105.0068 281.3219 249.5308
Kinectdl A/ Z Ol 25 E1®S JHOHCISl 2E GIOIE 3tS 5HE ASSHAL,

1 Ankle_Rig 302.9077 469.9652 512.7732
1 Ankle_Left-140.2446 590.7492 432.5676
1Hip_Left -72.58289-28.95898 36.12036
1 Hip_Right 99.48596 81.65881 -19.72095
1 SpineNave 2.249878 -133.5869 -102.5806
1 SpineChes 5.691895 -241.9082 -182.5095
1 Neck 43.39685 -409.7667 -293.9529
1 ShoulderR 122.6718 -267.4031 -332.9087
1 ShoulderL-51.76831 -432.6051 -146.6333
1 ElbowRighk 103.0247 -10.16931 -268.7231
1 ElbowlLeft -118.4734 -254.5313 32.01465
1 WristRight 108.5829 135.0784 -101.2458
1 WristLeft -132.6139 -80.38269 164.0259
1 Head 66.91455 -475.0901 -327.5408
1 FootRight 380.5919 515.1501 648.4451
1Footleft -140.6422 667.84 591.762
2 Pelvis 0 0 0
2 Knee_Rigk 155.1682 282.6002 265.4419
2 Knee_Left -84.26563 283.5808 279.7021
2 Ankle_Rig 221.749 545.9737 539.5225
2 Ankle_Left-97.02478 599.5557 493.7852
2 Hip_Left -78.62659 -31.17725 33.60034
2 Hip_Right 94.17444 120.5037 -19.76807
2 SpineNave 10.62537 -142.0135 -106.9075
2 SpineChes 16.78247 -253.1687 -195.6379
2 Neck 64.02356 -429.1259 -312.9675
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2. UIOIE =&
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COI0Ie Xl

RNN& Ol S &, X 0OI0IE 0l CHoll & X 2l £ of KL

plt.figure(figsize=(16, 9))

x = [frame for frame, _ in ESlanglelFAK] # x S/2F framS =&
y = [angle for _, angle in ESlanglelFAK] # y SOE anglolS F=
sns. lineplot (x=x, y=y)

plt.xlabel (' frane')

plt.ylabel ("anglel ")

Text(0, 0.5, 'anglel’)
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plt. figure(figsize=(16, 9))

x = [frame for frame, _ in ES2anglelFAK] # x 2T fram= F=
y = [angle for _, angle in ES2anglelFAK] # y 2= amgiolS FZ
sns. | ineplot (x=x, y=y)

plt.xlabel (' frane')

plt.ylabel ("analel ')

Text(0, 0.5, 'anglel’)
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4. RNN

input_data = [
[ESlava_distancel, ESlavg_distance2, ESlava_distanced, ESlanglelFAK, ESlangleRFAK, X '_l | S .” | .I =2 X =|_ | -;|
ESlanglelAKH, ESlangleRAKH, ESlangleLKHP, ESlangleRKHP, ESlanglePSN], J I a al» [: O E =2 o ﬁ-g A j RNN
[Mlavg_distancel, JMlavg_distance2, JMlavg_distance3, JMlanglelF&K, JMlangleRFAK,
JHTangleLAKH, JM1angleRKH, JMIanglelkHP, JH1angleRKHP, JM1anglePSN], _ _
[SHiava_distancel, SHlavg_distance?, SHiavg_distance3, SHiangleLFAK, SHianaleRFAK, OFE a| = 0.” Sk AI | O| s 9 }\} [——1
SHianaleLAKH, SHiangleRAKH, SHianaleLKHP, SHianaleRKHP, SHianglePSN], = o - — — TT/AM L=
[SGlavg_distancel, SGlavg_distance2, SGlavg_distance3, SGlanglelFAK, SGlangleRFAK,
SGlangleLAKH, SGlangleRKH, SGlanglelkHP, SGlangleRKHP, SGlanglePSN], _ _
[HBlavg_distancel, HBlavg_distance2, HBlavg_distance3, HBlangleLFAK, HBlangleRFAK, IS 6} o] [:|»
HBTangleLAKH, HBlangleRiKH, HBlangleLkHP, HBlangleRKHP, HBlanglePSN] — < A .

1

input_data_nornalized = scaler. fit_transforn(np.array(input_data))

# Min-Max I P&
scaler = MinMaxScaler()
input_data_nornal ized = scaler. fit_transform(input_data.reshape(-1, 1)).reshape(-1, 10)

# LSTH 22 24

model = Seauential()

nodel . add(LSTM(units=64, input_shape=(10,))) # /& HO/EHY 2o/0) FH =&
mnodel . add(Dense(units=1))

# o g
model . conpi le(opt imizer="adan', loss="nse")

# Y= Gfole Fef HE

input _data_reshaped = input_data_normalized.reshape(~1, 10, 1) # &= Sio/e/e 2o/0f 23 =&
# D stz

model . fit(input_data_reshaped, target_data, epochs=10) # target datais SH H20f sHSol &

# 2 =
prediction_normal ized = model .predict (input _data_reshaped)

# 05 20 ST
prediction = scaler. inverse_transform(prediction_normal i zed)

print(prediction)
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